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1- Look at the visual and choose the correct sentence.

a) Sam is taller than Tim.

b) Tim isn’t shorter than Sam.

c¢) Tim is shorter than Sam and Bill.

d) Bill is taller than Tim but he is shorter than Sam.

Ali: | am riding my bike
2- Which of the following completes the conversation?

a) Where are you going?

b) What does your father do?
¢) Why are you crying?

d) What are you doing?

Which of the following is true according to the
visual above?

a) Alex is not strong.

b) Eric is weaker than Alex.

c) Eric is strong.

d) Alex is not stronger than Eric.
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Which of the following is NOT true according to the
visual above?

a) Natalia is beautiful.

b) Mia is more beautiful than Natalia.
c) Natalia isn’t uglier than Mia.

d) Mia isn’t beautiful.

....................... than Adem.
Read and complete the sentence with the correct
choice

a) more shorter

b) intelligent

c) clever

d) more handsome
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Which of the following is true according to the visual
above?
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a) The tie is more expensive than the hat.
b) The hat is cheaper than the tie.

¢) The hat isn’t cheaper than the tie.

d) The tie is expensive but the hat is cheap.
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Unit 3 Downtown

7- Fruitis..................... junk food

Read and complete the sentence with the correct
choice

¢) healthier than
d) longer than

a) more intelligent than
b) more important than

Aplaneis..................... than a train.

8- Read and complete the sentence with the correct
choice

a) different
b) faster

c) slower
d)difficult

Read the text and answert the questions 9
and 10.

Hello, I’'m Tim. I’'m eleven years old. | have
a brother. He is Jack and He is seven years older
than me. | have a sister and her name is Bella and
she is three years younger than me.

9-Which of the following is correct according to the
text?

a) Bella is younger than Tim.

b) Tim is older than Jack.

c) Jack is shorter Bella

d) Bella is more hardworking than Jack.
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10- How old is Jack?

a)18 b)4 c¢) 11 d)14

Look at the table and answer the questions 11 and 12

Height Weight Age
Ferhat 151 36 14
Melisa 145 40 14
Yusuf 150 46 14
Kezban 147 41 13
11- MelisaiS........ccovviiinnns
a) younger than Kezban
b) thinner than Ferhat
c¢) more intelligent than Yusuf
d) shorter than Kezban
12-  Kezbanis...................... than Melisa.
a) shorter  b) thinner c)younger d) older
13- Yusufis................... than Melisa.
a) heavier  b) older c) younger d) shorter
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Answer Key
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